16EiEEMHE
EREAMNTEMWE, BN TEMER,

W EEAE
| A
SEERTE +20%
RSEABE 150V AC, 5V DC
§§ LieERE 300°+3°
B
& i 3 t0 25mN.m
i BIERD 15,000 cycles
B
of)
g ERREEE 100 +70°C
B=R—58
T s | BRIESRRE e | RBRE e | RAVTREA (pes) oy o
BIEGH | REEER | R (O e ROl | emme S FREs | ES
% i3 600 | 1,200 | RK1631110U1Q 1
L T 20
(2] 200 400 RK1631110TNP 2
=13 x
) iRl 600 | 1200 | RK1631110U2A 3
Z e 15 1B
) ek 200 400 | RK1631110U0Q 4
10
- P 20 ) RK16312101A2 5
i =R )
2 sy 15 RK1631210AX9 6
e i3 600 | 1,200
- ) T4 20 x RK16312A0B85 5
2B 15A
KE%
BHE
s 15 RK16312A0BKR 6
i =
B EARMIMNIEMRIE, EEEFEMTRME (P.298),
i ;
= | 2B
€53
PR (2= cs. 5% S
158/ HA 158/ HOE% (mm)
ficss 600 1,200 532x326x386
=23 200 400 360%270x155

296

ALPS/LPINE

E =@ » P.298

MBZERM » P.299

KT @IIRLSMIE M RITIE P P.300
IRESM D P31



RK163 /162 & B

.9}‘%9 Unit:mm
g ENRI B B AR LR LR T
i A
No. el 2 (& i A AT BE)
1HhsaE%
RK163111
3.8
| - : | it
eoo - suriace i
R1 2 M7X0.75 . 1m ’ Ju—%[ 3-51.2 holes
15
Shaft shown in full C.C.W. position ‘f?*
Lj]
158 $ 8
BERT ——" #
RK163111
2
&
Shaft shown in full B
C.C.W. position Hh
15 ER .
RK163111 s
- 3.8
Mounting
surface %3%
- e ;H
3 Q l& j* —
] -
R1 M7X0.75 e
2 1‘ 2|, 3‘ j 3-91.2 holes iﬂ
1] [ %
Shaft slot is 1
optional angle. 15 il
15 105 15
BEXinT 5. 8 ~
RK163111 ] S| s 7
B
© U h
’ - \
C1
> \M7X0.75 ;
. Hh
Shaft slot is 15
optional angle.
15h28% 75
RK163121 (ZFiF) 12.1 20 15_[Co3
RK16312A (Z2H) T 12 S 5 38
UL S N
g et = jfi © i
5 s - o
Q @@:"Z@? ﬁ Mounting
M7Xx075 \Cl T T = surface
R2 R1 B s 12l 31 6-91.2 holes
Shaft shown in full CCW position
15h28% 12.1 15 . 75
RK163121 (ZEF) o B I 15403 5 38
RK16312A EE%) Mounting
© ¥ surface
g r=—- =6
6 \ E %“[p"% A T
Cc1 | | 7\7 71:)7
R R > \M7X0.75 Y23« ? ‘
1
Shatt slot is = i 6-01.2 holes
optional angle. 15
UArd ardy
Prg7R ERHR P2 297



16 BT mAHE / Eftr=milg

P VR LAANI LA RS il LSRG, 7 i SESR LASNAL & O HERRHE i o

W B R®
a4 Fmd B VLS
1 5hEBx RK16311 B
2P
15h28% RK16312 B, FBETA. SRR
B o e
% IR
i
& HPEE (kQ) 5 10 20 50 100 200
B ,
2 Lt
i
= FERE AR 15A B 3B 15C
WERESBRT
1 ) ﬁﬁ%ﬂi Unit:mm
e
B
% L REBR .
O
RIEEFRAE o
AL—B-‘ L L, Ls 2,
X X
4 ] S 15 5 8
o - =1 ¢ ; 20 5 12 !
i == s ERTRREEN
I \L 25 7 12 HAEIREILARE
C1
30 7 12
M7X0.75 e
b 18 teeth Serrated O KB L,
i
2
1
i}‘é
2) SFftEE Unit:mm
_ L . HHER RN
Jé;% Le 2 L-| LB 2 1
— 15 5 7
7,,<H7, ‘31 & 20 7 12
h 41 \ 25 7 12
& wrxors N B B o | 7 | e
3) %EEE Unit:mm
L. .
. s HEBR~T
Le | 16
L1 Le
—r o 15 7
i — 1)
20 7
C0.5 25 7
FEETE A 30 7
M7x0.75 HAEERIL SRS

p=
BN AR EHEFUE,
EHHEIER,

MIEZERME > P.299

> EIIRINYE BT .
208 ﬂLPSALPINE KT @ANRLOMIEM™R1TIE » P.300



16 BRI EHE / MBS

BTN EER .

R BE

11

] T
ol BT
- 22N

/ M7x0.75

!

SRR

2R

BHHH

P 7R R HR PR e 299



16 B EHE / XTr=miIRUIMNIE™=5miTH

I YEAR AN LU RS AT AR, 77 it — SR AS ML & D R i o

W75 RIS AN EE)
rRK1/6/3/1|1|{1/0~=F/ 2 0~~C O~B|1/ 03— P
T I I
RS
i ige FREE
d
] m 5
iz
2% 121 28 BHHA
12A 28 HEH
iz}
o BERAAR
iz S = = I
= s BRAEERTIR
F i
S T4
K fesgi
. BAESRRE Ly (mm)
B —— = 2 = = 2
L2 LS |BEPRE| L5 | BREBRE
15 15 25 25
20 20 30 30
4
%
L
EAL
s TENL
1
% co
{i
il Cl R
=N HER YIS
% 100 100
= e | mmme | eS| mmEme b, b \
g w0 g w0
A 15A \% 3B S <
g V/Z4ViNinn- SR
B 1B C 15C X X
NP e 60
E: B: SEMEER (Model type: 111, 121) I e \
i V: HEMA (Model type: 111, 12A) SIE / e \
3|5 o 52 @
g é 30 g é 30
% 2 ‘2’\@@@ ) / %ﬁ \ (o
; é 20 74 RS S E 20 L)\
g5 0| L/ EE
o|s b ol|s Nl
0 10 20 30 40 50 60 70 80 90 100 100 90 80 70 60 50 40 30 20 10 0
Term."1" Rotation travel (%) — Term."3" Term."1" Rotation travel (%) —» Term."3"
SPAE
e S e A
(kQ) (kQ)
502 5 503 50
103 10 104 100
203 20 204 200
I
s IR
P [i5¢53
L 223

B RAREHEFE,

300 ALPS/LPINE



Eid] 16mm size 27mm size 50mm size i )|
RK163 RK271 RK501 RK168
E
1%h
FE R (A% SR /2 Bt SR /2 BE /A BE 2Bk 4Bk
BA
E:é{/FE‘BﬁFﬂ Horizontal
i
WREEFE BN EE g
i
ERRETEE —10°C to +70°C &
BiEHm 15,000 cycles .
%
EA~ — — — — &
A l:j: H
AN
5, 10, 20, 50, 5, 10, 20, 50,
SHEMEE (kQ) 100, 200 100, 250 10, 20, 50, 100
FE R 15A, 1B, 3B, 15C 15A, 3B
T 0_05%}% 6 0.05W 0w 0.05W £
i
RS10kQ 20Qmax. R<10kQ 20Qmax.
KuREMEE | 10kQ<R<50kQ  30Qmax. |10kQ<RS50kQ  30Qmax. — —
50kQ<R #EFFEER 0.1% |50kQ<R ZiEEMEN 0.1%
o
_ 5kQ<SR< 10kQ  70dBmin. | 5kQSR< 10kQ  70dB min. 5kQ<R< 10kQ  70dB min. f%
B EAE RAERE T0KQSR< 50kQ  80dB min. | T0KQSR< 50kQ  80dB min. 12048 min T0KkQSR< 50kQ  80dB min. F
(ZEH) 50kQ SR<T00kQ  90dBmin. | 50kQ SR<100kQ  90dB min. . 50kQ <R<100kQ  90dB min.
100kQ<R 100dB min. | 100kQ<R 100dB min. 100kQ<R 100dB min.
jie
ERTHEERE| _ —70dB to — 60dB 3dB max. .. | —60dB to — 40dB 5dB max. i
DB LHEER) 40dB to 0dB 3dB max. L S0uB 10 0B 248 mas | —100dB to 0dB 3dB max. ¢ | ~ 20 e” o et Se 1 %E
Gt
BB RE 100MQ min. 500V DC 100MQ min. 250V DC
: 300V AC "
i B & 500V AC for 1 minute for 1 minute 2&%
R B) 4 i T x
N T, PR,
EAL T, sk 2131 41 x ;
4R || LR T 0.9Nm 15N-m 0.9Nm i
LAk 1% BE
IR AR 100N max. 150N max. 100N max.
MR BE 10 to 55 to 10Hz /43, 2RI8 1.5mm, X, Y, Z 3 A1 & 2 [\
AR ST, T, T T4, T4 T T
I FRAR AR, Bl AR
Fft/E FF = — — — —
bl 296 301 305 307
SEMEAIEEHISME « « « « o ot e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e 311
FEAISE (FEITHERTEITT « + + « » = = ¢ o e e e e e et e e e e e e et e e e e e e e e e e e e e e 384
FEAISE MEFTE - MIGTTIE + + « = = = =+ e e e e e et e e e e e e et e e e e e e e e e e e e e e 386
o v === 31 - 388

RHK O FSRIEATRIINKED ™ o
X4 BXRMEE{RZE : —100dB to 0dB 3dB max. (RiEAF R1-R2 #1 R3-R4 Zi#)),

P 7R R HR PR e 281



BFIEEARXNSEZE6
Bl IBEORE YR HERT R] IREEREL
RKO9L, RK097 350°C max. 3s max. 1 time
RK271 350°C max. 5s max. 1 time
RK501 350+10°C 5*s 1 time
RK163 350°C max. 5s max. 1 time
WE Vi 300°C . 3 .
RK168 AR T - mex S mex 1 time
IRisT 350°C max. 2s max.
WREAXNSEZEG)
Fh ==
%71 . _ A : - : FR R
IREEREDRE SFAR B IREERE JEEERTIE]
RKO9L, RK097 100°C max. 2 min. max. 260+5°C 5t1s 2 times max.
RK501 120+£10°C 2 min. max. 260+5C 5+1s 2 times

P 7R R HR PR e

RN / RS

BRRF & afi

2R

el

N

iy

)

H

At
B

311




	产品概要
	外形图
	其他
	附属零部件
	产品规格
	焊接条件



